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#include<cstdio>

int main() {
long long n;
scanf("%11d", &n);
printf("%11d\n",n*n);

return 0;
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#include<cstdio>
int main() {
int n;
scanf("%d", &n);
long long an = 0; // EFEFEERNT=
// BE=RINLE 1 ~ n-1

for(int i = 1; i < n; i++) {

an += i;

}

// BERME n ~ 1

for(int i = n; i > 0; i--) {
an += i;

}

printf("%11d\n",an);

return 0;
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#include<cstdio>
int main() {
int n;
scanf("%d", &n);
long long an = n;
for(int i = 1; i < n; i++) {
an += 2 * 1i;
}
printf("%11d\n",an);

return 0;
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#include<cstdio>

#include<algorithm> // B  gcd #I1 include algorithm
using namespace std;

const int MAX N = 14;

int n;

int a[MAX NJ; // fEFEX $n$ TR



bool used[MAX N]; // BARLF —THEEHIE
int an; // BEEFISRENRETER
/*
* IF0Y dfs(id) BY, RRBAVEEREE id TEEHRIL
*/
void dfs(int id){
// % id = n, AREENFLE—HRBNAST, FAIUFRIENZE
DIEENAIEUH B EFREE R
if(id == n){
for(int i = 0;i < n; i++){
for(int j = 0; j < i; j++) {
// FHHE 1 ME 3 TR AERR T AR
Bz, WAIMXE#E return
if (used[i] && used[j] && _ _gcd(al[il,
a[jl) != 1) return;
}
}
// BERUTRIRBA RGN FPERLE ER, 1TEE ont K
RHEIRT LI
int cnt = 0;
for(int i = 0; i < n; i++) {
if (used[i]) cnt++;
}
// MBENBNHEATENMEANE, WEHRETE,
if(cnt > an) an = cnt;
return;
}
used[id] = true;
dfs(id + 1);
used[id] = false;
dfs(id + 1);
}
int main() {
int T;
scanf ("%d", &T);
for(int i = 1; i <= T; i++) {
an = 0; // IEBERWEHLA 0
scanf("%d", &n); // EAN n
for(int j = 0; j < n; j++) scanf("%d", &al[j]);
// EN n T&
dfs(0); // MEIUEEYIRRZC
printf("%d\n",an);
}

return 0;
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#include<cstdio>
#include<algorithm> // BEffH  gcd M7 include algorithm
using namespace std;
const int MAX N = 14;
int a[MAX N];
// WRTBEIRTG x MEARAIECRSE i fUREFE (LIEM 0 FFHA%RS)
int get bit(int x, int i) {return (x >> i) & 1;}
/KB x WNBNFERSHSERBEER
bool coprime in subset(int n, int x){
for(int j = 0; j < n; j++) {
for(int k = 0; k < j; k++) {
if(get _bit(x, j) && get bit(x, k)) {
if(__ged(al[j]l, al[k]) != 1) return false;

}

return true;
}
void solve one test() {
int n;
int an = 0;
scanf("%d", &n);
for(int i = 0;1i < n;i++) scanf("%d", &a[i]);
for(int i = 0;i < (1<<n); i++){
if (coprime in subset(n,i)){
int cnt = 0;
for(int j = 0;J < n; J++){
cnt += get bit(i,j);
}

if(an < cnt) an = cnt;

}
printf("%d\n",an);
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int main() {
int T; // tEFHEJLAELE
scanf("%d",&T);
for(int t = 1; t <= T; _t++) {

solve one_test();
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#include<cstdio>

#include<algorithm>

using namespace std;

const int MAX N = 14;

int n;

int a[MAX N];

int coprime[MAX N];

int an;

void dfs(int id, int cnt,int choosen mask) {
if(id == n){

if(an < cnt) an = cnt;

return;
}
if((coprime[id] & choosen mask) == choosen_mask)
dfs(id + 1, cnt + 1, choosen mask | (1 << id));

dfs(id + 1, cnt, choosen mask);
}
void pre_do(){
for(int i = 0; i < n; i++) {
coprime[i] = 0;
for(int j = 0; j < n; Jj++) {
if(i != j && __gcd(a[i] , a[]j]) == 1)
coprime[i] |= 1 << j;

}



int main() {
int T;
scanf("%d", &T);
for(int i = 1; i <= T; i++) {
an = 0;
scanf ("%d", &n);

for(int j = 0; j < n; j++) scanf("2d", &a[j]);

pre _do();
dfs(0, 0, 0);
printf("%d\n",an);
}
return 0;
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#include<cstdio>
#include<cstring>
const int SIZE = 1000010;
char s[SIZE];
char t[SIZE];
int dp[SIZE][3];
void solve(){
scanf("%s%s", s + 1, t + 1);
int n = strlen(s + 1);
int m = strlen(t + 1);
if(m != n - 2){
puts("0");
return;
}
for(int i = 1;i <= n; i++) {
for(int j = 0;j <= 2; j++) dp[i]l[]J] = false;
}
dp[0][0] = true;

for(int i = 1;i <= n; i++){


https://baike.baidu.com/item/LCS/33958?fr=aladdin

for(int j=0;j<=2;j++){
if(dp[i-1]1[J]1 && s[i] == t[i-J]) dp[i][]] =
true;

if(j > 0 && dp[i-1]1[J-1]) dp[i][]j] = true;

}
if(dp[n][2]) puts("1");
else puts("0");

int main() {
int T;
scanf ("%d", &T);
while(T--) {

solve();
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#include<cstdio>
#include<cstring>
const int SIZE = 1000010;
char s[SIZE];
char t[SIZE];
void solve(){
scanf("%s%s", s + 1, t + 1);
int n = strlen(s + 1);
int m = strlen(t + 1);
if(m !=n - 2){
puts("0");
return;

}
int j = 1;



for(int i = 1; i <= m; i++) {

/*

* BRHENBASBEESH tii] AURENNRLZDNFR

* EPNFROAHEN ti] BEURMUEL tri-1] R
UEXRELD

Y/

while(j <= n && t[i] != s[]]) Jj++;
/1 F 3 > n, RRKEAE s[i) EXHNFR.
if(j > n) {
puts("0");
return;
}
Jt+;
}
/1 EFEFITIIXE, AR t NIB—TFRHEE s PRI
puts("1");
}
int main() {
int T;
scanf("%d", &T);
while(T--) {

solve();
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#include<cstdio>
int cnt[14]; // LERETHRFEHIILR
int main() {
for(int i = 0; i < 18; i++) {
int x;
scanf("%d", &x);
cnt[x]++;
}
int an = 18;
for(int i = 1; i <= 13; i++) {
an -= cnt[i] / 2 * 2;
}
printf("%d\n", an);

return 0;
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#include<cstdio>
#include<string>

using namespace std;

const int MAX N = 15;

const int MIN N = 5;

int n; // HEXR)

/*

* fEfFHNE, _FEMFE (1,1) ~ (n,n)
*/

char s[MAX N+1][MAX N+2];

/*

* EXEBNVEFRBEAORS, KFET -> A > £ > L (%HS0-3)
* HEN (x,y) BERIMEEAR (x+dx[1],y+dy[i])FiRERE 1 E

*/
int dx[4] = {1, 0,-1, 0};
int dy[4] = {0, 1, 0,-1};

char cc[5] = "DRUL"; //RREBNHENFER
void read(){
scanf("%d", &n);
for(int i = 1; i <= n; i++) scanf("%s", s[i] + 1);
}
//EHRAFEEENAERE id, SEEREERENEFHERENG D
int turn right(int id){
return (id + 3) & 3;
}
//EHRAFEEENAERE id, FEEAERENEFHEENG D
int turn_ left(int id)({
return (id + 1) & 3;
}
/ | BRI RIEER (%, y)
void solve(int x, int y){
/* dirZBRIREARAITSE]
* YIRS —E A EAL,
~ BAFWE T HRE
*/
int dir = 1;

putchar('D');



while(true){

/*
* (head x, head y) =RIARIETF
*/

int head x = x + dx[dir];
int head y = y + dy[dir];
if(s[head x][head y] == '#'){ // B—MIEF: BIAHZ

// ENHEIAREEE A,
putchar(cc[dir]);
/] K%
dir = turn left(dir);
}
else{
/*
* (head right x, head right y) =ABIAIEFH
REATR
*/
int head right x

x + dx[dir] +
dx[turn right(dir)];
int head right y = y + dy[dir] +

dy[turn_right(dir)];
/1 BIMIER: BIARKSF, AL EEE
if(s[head right x][head right y] == '#') {
// ENERBIAE
putchar (cc[turn right(dir)]);
// BIHE—1E
X += dx[dir];
y += dy[dir];
// WMRENAZIR SR FLE

if(s[x][y]=='T') return;
}
/1 B=MIESR: BIAMARGHERT
else{

// FoRI#H—I

X += dx[dir];

y += dy[dir];

// WMRADAZIR SNFEFER

if(s[x][y]=='T')return;
// B¥ 90 B

dir=turn_ right(dir);

// BRI#H—

X += dx[dir];

y += dy[dir];

// B HRIAFWEENS D
putchar(cc[turn right(dir)]);
// WRETHABIR [NFZFLE



if(s[x][y] == 'T')return;

}

int main(){
read();
for(int i = 1; i <= n; i++)
for(int j = 1; j <= n; j++)
if(s[i1[3] == 's"){
solve(i,j);
puts("");
}

return 0;
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#include<cstdio>
const int MAX N = 1000;
int can[MAX N + 1][MAX N + 1]; // iCREMPLEAIE 7] A Y EFAIH
A LA
int main(){
int now_answer = 0;
int n, m, qg;

scanf ("%d%d%d", &n, &m, &q);



for(int i = 1; i < n; i++)
for(int j = 1; j < m; j++) {
can[i][]j] = 1;
now_answer++;
}
for(int k = 1; k <= q; k++) {
int x, y;
scanf ("%d%d", &x, &y);
for(int i = 0; i < 2; i++) {
for(int j = 0 ; j < 2; j++) {
if(can[x - i][y - J1) {
now_answer—-;

can[x - i][y - Jj] = 0;

}

printf("%d\n",now_answer);

problem G: 450073 £ K H1E!
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#include<cstdio>

#include<set>

#include<algorithm>

#include<assert.h>



using namespace std;

const int EMPTY = 0;
const int BLACK = 1;
const int WHITE = 2;

const int N = 8;
struct ReversiSimulator{
/* grid(x][y] &K HELEF(x,y) BWHRRES
* 33F dir M 0~7, (dx[dir],dy[dir]) RFR/\NHEARE
*/
int grid[N+1][N+1];
{1,0,-1,0,1,1,-1,-1};
{0,1,0,-1,1,-1,1,-1};

int dx[8]

int dy[8]

// VRt EE

void init() {
for(int i = 1; i <= 8; i++)

for(int j = 1; j <= 8; j++) {

grid[i][j] = EMPTY;
}
grid[4][4] = grid[5][5] = WHITE;
grid[4][5] = grid[5][4] = BLACK;

}
/] BT (x,y) BREFHEE
void rev(int x, int y){
assert(grid[x][y] != EMPTY); // HEASHERBEHEF
HITEF
grid[x][y] = 3 - grid[x][y];
}
/] FIF— P EEARE SN
bool out(int x, int y)({
return x <= 0 || y <=0 || x> N || yv > N;
}
/1 FIHERE col AIARIATERT (x, v), AN, MEMER
bool put(int col, int x, int y){

if(grid[x][y] != EMPTY)return 0;
/] BLERAE col MEEBREME (x,y) FJUARENFML
B
set<pair<int,int>> eaten pos;
/BT AERE R URENHIEF
for(int dir = 0; dir < 8; dir++)({
int now x = x + dx[dir];
int now y = y + dy[dir];
set<pair<int,int>> enemy pos;
bool arrived = 0;
// BENZAEE-TEEEHBLHER Nbreak
while(!out(now_x,now_y) && grid[now Xx][now_y]
!= EMPTY){

if(grid[now x][now_y] == col) {



// BE H e Nins—inh B SHEFH

break
arrived = 1;
break;
}
else{
// BRI FHEFUEUEBALENFEHFUE
B set
enemy pos.insert({now_x, now_y});
}

/] BRERET—TEF,
now_x += dx[dir];
now y += dy[dir];
}
if(arrived){
// RFZ—ImBECHT, WIERENXYFEFLIEE
N EERINIE set
eaten pos.insert(enemy pos.begin(),
enemy_pos.end());
}

}
if (!eaten pos.empty()){

/1 BRBEEL—THEF, MN(x,y) ZRIBRNMUE, HE8
PRI FREE
grid[x][y] = col;
for(auto me: eaten pos){
rev(me.first,me.second);

}

return 1;

}

else return 0;
}
}board;
int a[3][N * N + 1];
// (ids[x][0], ids[x][1]) FEHF x NNFIAIHEEFR
int ids[N * N + 1][2];
char cc[4] = ".BW";
void print(){
for(int i = 1; i <= N; i++) {
for(int j = 1; j <= N;
j++)putchar(cc[board.grid[i][]]11]);

puts("");

}

bool can _move(int col){
for(int i = 1; i <= N * N; i++){

if (board.put(col, ids[a[col][i]][0], ids[a[col]



[1]11[1]))return 1;
}

return 0;

int main(){
/1 RN EFN N A EEAR
for(int x = 1; x <= 8; x++) {
for(int y = 1; y <= 8; y++) {
ids[8 * (x - 1) + y]1[0]
ids[8 * (x - 1) + y][1]

X7

yi

}
for(int i

scanf ("%d", &a[BLACK][i]);

1; i <= 64; i++) {

}

for(int i = 1; i <= 64; it++) {

scanf ("%d", &a[WHITE][i]);

}

board.init();

while(1){
int move cnt = 0;
move cnt += can move(BLACK) ;
move cnt += can_move(WHITE) ;
if (!move cnt)break;

}

print();

return 0;
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#include<cstdio>
#include<limits.h>
const int INF = INT MAX;
int main(){
/! BREVIBNIKELS SNMS, BT
int last _h = INF;
bool face down = true;
int N;
scanf("%d", &N);
int answer = 0;
for(int i = 0; i < N; i++){
int h;
scanf("%d", &h);
if (face_down) {
if(h >= last h){

face down = false;

answer++;
}
}
else{
if(h <= last_h){
face _down = true;
}
}

last h = h;
}
printf("%d\n",answer);

return 0;
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